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Display Number Panel: Yes

Group All Questions: No
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Sub-Section Id: 9983671031
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 99836719113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& series is giverl with one term missing. Select the correct alternative from the given ones that will complete the
Series.

MAND, QHRE, UOVE, ?, CCDF
Options:

1. % YUZY

2. % IVZIY

3V YVIY

4 % IVZIZ

Question Number : 1 Question Id : 99836719113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e Srgerd Team e &, Faed ¥ v ug gr 81 far vy et # 9 gy wEt Eewer gy, ST S @ m e

MAND, QHRE, UOVER, ?, CCDF
Options:

1. % YUZY

2. % IVZIY

3V YYEIY

4 % IVZIZ

Question Number : 2 Question Id : 99836719114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd word from the given alternatives.

Options:

1. % Tailor
2. % Lawver
2. % Driver

4 % Scissors

Question Number : 2 Question Id : 99836719114 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tgie T W # T My fewedt # & o deg w1 i

Options:
1. % =
2. % gt



3. % gE@w
4« gt

Question Number : 3 Question Id : 99836719115 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd word pair from the given alternatives.

Options:

1. % Furniture : Table
2. % Red : Colour

3. % Peon : Profession

4. % Bench : Furniture

Question Number : 3 Question Id : 99836719115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrgfetaT wea # foy i et # & oum seg g @1 giam
Options:

1. ¢ gdfe 7

2 ® AT

3. % TR S

4. ® ¥ pAEw

Question Number : 4 Question Id : 99836719116 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related letters from the given alternatives.

ET Uy DV .7
Options:
1. % HE
2 % GB
3 ¥ GA
4 % HC

Question Number : 4 Question Id : 99836719116 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ HE

Z % GE

3 ¥ GA

4. ® HC

Question Number : 5 Question Id : 99836719117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In a certain code language, ‘FIN' is written as ‘40", ‘GUM’ is written as ‘42", What is the code for 'FOR’ in that
code language?

Options:
1. % 28
2. % 39
2% 40
4 % 41

Question Number : 5 Question Id : 99836719117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T e W e H CPIN w40 TETAET e, (GUM F 42 TFET AET 81 59 s v # FOR @ FIE 4T 57
Options:

1. % 38

2. % 39

2% 40

4 % 41

Question Number : 6 Question Id : 99836719118 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ini a certain code language, Rock are wood' 15 written as ‘la pl trry, James is hard’ is written as to pt ),
‘Hard is land’ is written as 'pt ak ro’. What is the code for “James are wood’ in that code language?

Options:

1. % Impkpt
2. % Impkro
2 % latmro

4. % lmpktm

Question Number : 6 Question Id : 99836719118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T TATEE #E 9T # ‘Rock are wood’ @118 pk trm’ W1 94T 8, “James is hard” @7 ro pt I T 9@ 8, ‘Hard is
land’ @ ‘pt ak ro’ T&FET FGT 51 59 FHIE 9T H ‘James are wood’ & #IE F47 57

Options:

1. * lmpkpt
2. % Impkro
2% latmro

4 % lmpk tm

Question Number : 7 Question Id : 99836719119 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Seven persons B, K, P, D, L, 5 and R are sitting around a circular table facing towards the centre MNot
MNecessarily in the same order). P is second to the right of 5. B is to the left of B. 5 is second to the right of D. L
is to the immediate left of D Who is sitting second to the right of E?

Options:
1. % L
2 WD



3. %K
4 % 5

Question Number : 7 Question Id : 99836719119 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A= B K, P, DL 5 d9R %ﬁfﬁ@?ﬂaaﬁwmﬂwﬂfs‘&—ﬁééﬁﬁ%mﬁﬁ &t gt A H ENI P, 5 o gt
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Options:

1. %L

2. v D

WK

4 % 5

Question Number : 8 Question Id : 99836719120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following quEStiOI'l below are given somme staterments followed D}.F sorme conclusions based on those
staternents. Taking the given statements to be true even if they seem to be at variance from commonly known
facts. Read all the conclusions and then decide which of the given conclusion logically follows the givern
Staternents.

Staternents:
[ MoHiIsE.
II. AR are T.

COrclusions:

[. Some T are H

II. No T is H.

III. Mo R is H.

Options:

1. % Only conclusion 1T follows

2. # Only conclusion I follows
2. % Only conclusion I follows

4. % Al conclusion I, II and [T follow

Question Number : 8 Question Id : 99836719120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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I #E H, E A5 &
II. @R, T 31
Terment: "

1L 5T, H

II. ®ET, H A&l
III. FE R, H A& 21
Options:

1. et Termepd 111 SF7eor g T &
2 % o e 1 e T s



3. % el Teary 11 SIe #aT &
4 % gt fead 1, 11 F2T 111 Sger 34 )

Question Number : 9 Question Id : 99836719121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the missing number from the given series.

12,12, 18, 26, 20, 7
Options:

1.9 270

2 % 315

3. % 180

4. % pp5

Question Number : 9 Question Id : 99836719121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrRTeTaT W § 7 TS AW & gH 4 F S
12,12, 15, =36, 90,7

Options:

1.9 270

Z % 3215

3. % 180

4. % 225

Question Number : 10 Question Id : 99836719122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In1 the fOllOWiﬂg question, select the related nurmber from the gZiven alternatives.

15: 53 81:7
Options:

1. % 108

2 ¥ 119

3. % 128

4 % 138

Question Number : 10 Question Id : 99836719122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TEmET wg | o my Hwedt o & dete ' w g
15: 52817

Options:

1. % 108

2. ¥ 1149
3. % 128
4. % 138



Question Number : 11 Question Id : 99836719123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ev interchanging which two signs the equation will be correct?

12-27F s 27 x5d+6 =81
Options:

1. % -and =

2. % wand +

3. ¥ +and -

4 % wand +

Question Number : 11 Question Id : 99836719123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tor o1 gl T S0 H UREUE Saete U SHIE TRl 5T AT

12-27 - 27 x54+6 =81
Options:
1. % — o7+

EE B 1) |
SW e -
4 % s T+

Question Number : 12 Question Id : 99836719124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ev interchanging the given two signs which of the following equation will e correct?

*and +

Options:

1. % 46-39+ 12+ 13 x4 =14
2 % 16 x9-13+ 14 + 42 = -14
3% Ex1l1+32+11-15=25
4 ¥ 12-6+24+12x6=8

Question Number : 12 Question Id : 99836719124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e o =t gt @t e § e agae W eiRET # & @19 |7 S agt i

= 74T +

Options:

1. % 46-39+ 12+ 13 x4 =14
2 % 1Ex9-13+144+42=-14
3. ¥ E8x11+32+11-15=25
4 9 12-6424+12x6=28

Question Number : 13 Question Id : 99836719125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the number which can be placed at the sign of question mark (7) from the
given alternatives.

916|324
718 112]35
314197

Options:
1. % 22
= ¥ 20
3. % 24
4. % 20

Question Number : 13 Question Id : 99836719125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T v | oy my fHwedt § & v B (7) & T T S aTet §EaT @1 g

916|324
718 112]35
314197

Options:
1. % 22
= ¥ Z0
3. % 24
4 % 20

Question Number : 14 Question Id : 99836719126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If "7 means ‘+', ‘T means -, 'R means “» and 'K means '+, then 1ZE 36K 8 ]3T 11 =7
Options:

1. % B0

2. ¥ 70

3. % 81

4 % 71

Question Number : 14 Question Id : 99836719126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Oty wrard o+, T Tt -, R et FuT K #arf + ELaT12R 36K 69T 11 =7
Options:

1. % 20

2 ¥ 70

3. % 31

4 % 71



Question Number : 15 Question Id : 99836719127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the diagrarn that best represents the relationship among the given classes.

Male, Father, Son

Options:

°©

Question Number : 15 Question Id : 99836719127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 16 Question Id : 99836719128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
©n folding the given paper, which of the following pair can be adjacent to '6'7

H{9]6
31417

Options:

1. % H 7
2. ¥4 7
3. %37
4 % g 4

Question Number : 16 Question Id : 99836719128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T # e @ Al W, e # g @ T gm s’ % Sad gy

H|9|6
347

Options:

1. % H 7
W 7
3. %37
4 % 9 4

Question Number : 17 Question Id : 99836719129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ev folding the given paper, which of the following cube can e formed?

9A
H|@|R

Options:



DD D D

4

Question Number : 17 Question Id : 99836719129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Ty W @ HiE S W, FER T # € @9 97 O A5l e =1 a7

91A
H|@|R
F
Options:

<>

<E>

> ®



<>

4 <

Question Number : 18 Question Id : 99836719130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the figure which can be placed at the sign of question mark (7) from the given
alternatives.

2aa|[Aad][ |[aaal[2=
A, Al|A A A
& A A A A bbb A A A
Options:
A A
A
A A
A
L ox |AZA
AAA
A A
g »
A A
A A
A A
3_1_;1 A
F Y A
A A
A A
4 % A

Question Number : 18 Question Id : 99836719130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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A Allaaa ' S ae e
Options:
A A
A
L [Fax
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Question Number : 19 Question Id : 99836719131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the figure which can be placed at the sign of question mark () from the given
alternatives.

’l

TH X

|

revw 00
o
O
F O

Options:

1. ¢

Question Number : 19 Question Id : 99836719131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¢

Question Number : 20 Question Id : 99836719132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich answer figure will complete the pattern in the question figure?

Options:

1. ¢




Question Number : 20 Question Id : 99836719132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I H IO ATFIT W AT o AT PRI P 7

2
Options:
1
.
ol
4 ®
rereral Awareness
Group Number : 2
Group Id: 998367691
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No

Break time: 0



Group Marks: 20

Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

GETIeral AWATrerness

Section Id : 998367812

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983671032
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 99836719133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Chhau Dance 1s associated with which state?

Options:

1. % Cdisha

2. ® Punjab

3. % Maharashtra

4. ® Gujarat

Question Number : 21 Question Id : 99836719133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T o e T | 2157

Options:

1. aifzar

2 ® oo

3. % mERE

4. ® TEHIT

Question Number : 22 Question Id : 99836719134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ is a category of instrurments in which sound is produced by the vibration of a string or chord.

Options:
1. % Sushira Vadva
2. # Avanaddha Vadya

3. ¥ Tata Vadva



4. % Ghana Vadya

Question Number : 22 Question Id : 99836719134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT T U AU g T et T AT O I AT S & U | 5T al

Options:

1. % g amer
2. % ST o
3. ¥ e RS
4 ® gaam

Question Number : 23 Question Id : 99836719135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ festival is associated with Arunachal Pradesh.
Options:

1. % Bohag Bihu
2. % Ugadi

2. % Yaoshang

4  Losar

Question Number : 23 Question Id : 99836719135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ TR SIPUTTIE WSS o |17 ST FiT &1
Options:

1. % ggn ey

2 ® Fmmar

= ® avartaT

4 ' T

Question Number : 24 Question Id : 99836719136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Make in India’ initiative 15 associate with which sector?

Options:

1. # Education
2. ® Services

3. % Agriculture

4. ¥ Manufacturing

Question Number : 24 Question Id : 99836719136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘T T SIEAT U (o0 51§ Halled 27
Options:

1. % Tdagr

2. ® #am



. % g
4. " TEfamf

Question Number : 25 Question Id : 99836719137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
is the manager of Foreign Exchange in India.

Options:

1. ¥ Reserve Bank of India

2. % State Bank of India

3. % Ministry of Commerce and Industry

4. % Finarnce Ministry

Question Number : 25 Question Id : 99836719137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
WRT | Tt ga7 =7 werer 21
Options:

1. ¢ ara i foad o

2 % gRdgETdw

3. ® givheer o FE T

4 ® O gawg

Question Number : 26 Question Id : 99836719138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The 51 unit of weightis ______
Options:

1. # Gram

Z. ¥ Kilogram

3. % Milligram

4. % Tonne

Question Number : 26 Question Id : 99836719138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT T T, TS, 5T ______ #
Options:

1. % oW

2. & T

= ® T

4 % 7T

Question Number : 27 Question Id : 99836719139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Calcium Hydroxide is found in which of the following?
Options:

1. ¥ LimeWater



2. % Soap
3. % Milk of Magnesia
4 % Citrus Fruits

Question Number : 27 Question Id : 99836719139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FiedaA TESTaaEs FaleEd § o T arem =T &7

Options:

1. ¥ AERERT

2. % gEE

= ® fhew sife Auifdar
4 % @ od

Question Number : 28 Question Id : 99836719140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ is calculated as the number of persons per unit area.
Options:

1. % Population Rate

2. % Population Growth

3. % Population Volume

4. % Population Density

Question Number : 28 Question Id : 99836719140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o _ T TIOT Ui SRS & H ATl T AT o € H AT 5

Options:

1. % FAEEar ey
o % SeET gy
3. % ST 0T
4 T aaed

Question Number : 29 Question Id : 99836719141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Ganga and Alalnanda rivers reet in which state?

Options:

1. % Uttarakhand

2. ® Himachal Pradesh
2. % Madhva Pradesh

4. % Tlttar Pradesh

Question Number : 29 Question Id : 99836719141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TITT 3% STe-ar Afeal e T=a | THadT 87

Options:



1. ¢ gwEs
2. % TEomwEe nda
3. % me e
4 % FEvudar

Question Number : 30 Question Id : 99836719142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Himalayan Mountains are what type of mountains structurally®?

Options:

1. ® Plateau
2. ¥ EBlock
3. ® Fold

4 % Yolcanic

Question Number : 30 Question Id : 99836719142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEATAD Wefd FeeFTcH & 8 Tor 0T o T 57

Options:

1. ® 1B

o Vs

3 % gieg

4 % FETATGER

Question Number : 31 Question Id : 99836719143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who wrote Vandebatram'™

Options:

1. % Aurobindo Ghosh

2. % Rabindranath Tagors

2. ¥ Bankim Chandra Chattopadhyay
4. % Sarat Chandra Chatterje

Question Number : 31 Question Id : 99836719143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Options:

1. % aRfderdm

2 % i e

3. o dfT og g M

4 ® ang g Tl

Question Number : 32 Question Id : 99836719144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
All India Muslim League was founded in which year?



Options:

1.9 1908
Z % 1908
3. % 1920
4. % 1911

Question Number : 32 Question Id : 99836719144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ATA SIEaT Gieerd #iT @1 & fore and o @1 s 4f?
Options:

1. ¥ 1908

2 % 1908

3. % 1920

4 % 1911

Question Number : 33 Question Id : 99836719145 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who raised the slogan - “Freedorr 1s my birthright and [ shall hawe it

Options:

1. % Subhash Chandra Bose
= ¥ Bal Gangadhar Tilak

3. % Bhagat Singh

4. % Lal Bahadur Shastri

Question Number : 33 Question Id : 99836719145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TRl ST ST e A Y] S=HieRg, ST & & 58 pier g ?
Options:

1. % gum g ae

2 & ST TR e

z % g R

4. % IR SEGT ATET

Question Number : 34 Question Id : 99836719146 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IMF {International Monetary Fund) was created in which vear?

Options:
1. ¥ 1947

2. % 1961
3. % 1957
4. ¥ 1945

Question Number : 34 Question Id : 99836719146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TS W, (Siaie = ga1 #m) o anf & s mam ar?
Options:

1. % 1947

z ® 1961

3. ® 1957

4. % 1945

Question Number : 35 Question Id : 99836719147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
who among the following has been replaced by NITI Aayog?

Options:

1. #* Election COrmmission

2. % Mandal Commission

2. ¥ Planning Cormmission

4 #* Chamber of Commerce

Question Number : 35 Question Id : 99836719147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrgfofaT o & o Tfe et anr nfteenit o mem ge

Options:

1. % AT s
o % HEd ST
3. ¥ AT ST
4. ® Jar e e

Question Number : 36 Question Id : 99836719148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is a law making body in India?

Options:

1. % Judiciary
2. # Executive
2. ¥ Parliament

4 % Police

Question Number : 36 Question Id : 99836719148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AR | TgTad o & ®19 37 S &= aTe! U Ge 37

Options:

1. % =qruicesT
o ® g
2 ¢ "

4 % giom

Question Number : 37 Question Id : 99836719149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Seventh Schedule of the Indian Constitution deals with which of the following?

Options:

1. % Union List

2. % Caths or Affirmations

3. % States and Union Territories
4. % Tribal Areas

Question Number : 37 Question Id : 99836719149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e ST 1 A et P # & fred daf
Options:

1. ¢ gugR

2 % sy 9T uiEEe

3. ¥ Tg T OY T 87

4 R FaamdiT aT

Question Number : 38 Question Id : 99836719150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ is the ex—officio chairman of Council of States.

Options:

1. ¥ President

2. % Prime Minister
3. % Home Minister

4 % Vire President

Question Number : 38 Question Id : 99836719150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T AT o U ST 2]

Options:

1. i
2. ® e AT
3. ® TEHdET

4 % IuImgEOi

Question Number : 39 Question Id : 99836719151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is NOT a badminton player from India?

Options:

1. % Jwala Gutta

2. % Saina Nehwal

3. % Ashwini Fonnappa
4 % Anita Sood



Question Number : 39 Question Id : 99836719151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TgieET § & @ a7 9T @7 o8 Hed [EaTel A5l 57

Options:

1. & ST g7

2 % grgar g
3 % arfeT arTaT
4 % T HE

Question Number : 40 Question Id : 99836719152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Deodhar Trophy 15 as50ciated with which sport?

Options:

1. % Chess
Z % Tennis
3. % Football
4. % Cricket

Question Number : 40 Question Id : 99836719152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T T WA & HeTET 57
Options:
1. sai
= % g
3" @EEIHEI
4. ® e
Arithrnetic Ability
Group Number : 3
Group Id: 998367692
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability
Section Id : 998367813
Section Number : 1

Section type: Online



Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983671033
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 99836719153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1
If x =12+ 2/35 then what is the value of Jx+ %

Options:

7 +2+/6

e 2
4 # =

Question Number : 41 Question Id : 99836719153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

afg x =12+235 g,a‘rﬁﬂuﬁmrmw?ﬁ?

Options:

WfT =%

| o 2



i 5

2 ® )

643

7

N7 +24/6

i P
4 % ez

Question Number : 42 Question Id : 99836719154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What 15 the largest number which whern divides 2039, 247 and 307 leaves 3 rernainder =2 in each case?

Options:
1. % 17

2 % 21
3. ¥ 19
4 % 23

Question Number : 42 Question Id : 99836719154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
% Tad g2 9= B |1 5, A 209, 247 FAT 307 T ST e OF Uode 20d # dUEd 3 aed i 57

Options:
1. % 17
z % 21
3.9 19
4. % 23

Question Number : 43 Question Id : 99836719155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
.
L £, e
24’14’4(1 303)53+133+3

What 1s the value of:

Options:
1. % 32
= W12
3. % 1148
4, % 75

Question Number : 43 Question Id : 99836719155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



8" 45%.15%%24
ja+4(1803)qa+33a+2 ﬂ m ET 3.?

Options:
1. % 32
2 ¥ 12
=.0% 1148
4 % 75

Question Number : 44 Question Id : 99836719156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Three years ago the average age of 2 girls and 2 boys was 27 .4 years. The average age of girls after 4 years
will be 32 yvears. What is the present average age of boys?

Options:

1. % 28 vears
2. % 30 vears
3. ¥ 32 years
4. % 29 vears

Question Number : 44 Question Id : 99836719156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

3 o U 2 ASch! G913 wiSd i ST A 27 4 °9 o 4 o waTd s il @ siHd g 32 oY 51 AN ASehi il ad o
fTET T AT 87

Options:

1. % cgaf
2 % 30
3 ¥ 3oy
4 % oo

Question Number : 45 Question Id : 99836719157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The average marks of students in section & is 45 and the average marks of students in section B is S0, Two
students whose average marks are 42 are shifted from section 4 to E and the average marks of section B
decrease by (0.8, If the total number of students in both the sections is 21, then what is the nurmber of
students in section A7

Options:
1.9 13

2 % 15
3 % 18
4. % 20

Question Number : 45 Question Id : 99836719157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T A H O & T S 45 T T EE E H o131 & of\d o S0 3 2f g T seg s 42 8, e s A 99 E H
ﬁgﬁﬁﬁmm%m@gﬁ & 1T & 0.8 H FW ST A 7 Aig g1 G2 ¥ Fol 5731 & G2 31 §, 91 S A T F HE
Options:

1.9 13

o % 15

3 % 18

4 % 20

Question Number : 46 Question Id : 99836719158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If monthly income of a person is decreased by 10%, then by what percent his new incorme must be increased so
that his income becorme equal to the original income?

Options:

1. % 11 percent
2. % 10 percent
2. % 909 percent

4. % 11.11 percent

Question Number : 46 Question Id : 99836719158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ot Ua =0T F AT S 10% § FH 5T A1 2, a7 JH6! 78 A1 Tofd= Wi o & "3 41 STed J1F ST A9 aed dd o9 &

AL g7
Options:

1. % 11 nfdeT
2. % 10 nideT
3. % 909 uHaT

4 # 11 11 uldaT

Question Number : 47 Question Id : 99836719159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a solution of mill and water, 40% is rmill and £0% is water. If 20 litre of mill: is added to the solution, then
milk becornes 50% in the new solution. What is the quantity of water in original rmixture?

Options:

1. % 80 litres
2. % G0 litres
2% 100 litres

4. % 120 litres

Question Number : 47 Question Id : 99836719159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T TUT AT & e T 8, 40% 9 & T9T S0% U1 81 2ie T # 20 wieT it THeT T =i, a1 =10 feor # g7 S0% 51 5717 3]
aTEgTeier TR # o= @ ATET #4787

Options:
1. % 50 ey
o ¥ 50 ey



I % 100 e
4 ® 120 ®Ew

Question Number : 48 Question Id : 99836719160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If & gives E% of his pens to B, then both of them will have sarne number of pens. But if B gives 10% of his pens
to &, then & will have 28 rmore pens than B. What is the initial number of pens with A7

Options:
1. % 90
=z ¥ 100
3% 75
4. % 120

Question Number : 48 Question Id : 99836719160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

I 4, B T 0T FoA H & S% E ®T 275, 91 S 2141 & UI aTel¥ HeAd 51 A0 #Aieh Al B, & FT 20T 10% Fed SaT 5, ar
A T UTH 28 SITERF FW 5 A SFERITd | A 3 U Beld Sl 9T 747 57

Options:
1. % 390
2 ¥ 100
3% 75
4 % 120

Question Number : 49 Question Id : 99836719161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& seller purchases a TV for Rs. 13,500 and spends Rs. 2500 on its transportation. At what price should he sell
the TV to gain 12.5% profit on the total cost price of TW?

Options:

1. % Rs 17500
2. % Rs 18750
3. ¥ Rs. 18000

4. % Hs 17700

Question Number : 49 Question Id : 99836719161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e ek T 13,500 20 @ o1 dl |gdT § a7 36 A U 2500 T @ #ar gl I9 SLEl o e 9 grd W 12.5% ®T
mﬂwﬁ%ﬁqﬁaﬁ T o O OF ST ATien?

Options:
1. % 17500 &=

o ® 15750 w7
= ¥ 18000 &0
4 ¥ 7700 T

Question Number : 50 Question Id : 99836719162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



A& certain amount is divided among P, @ and R in the ratio of 2 : 2 : & respectively. If the share of 1 is Rs. 260,
then what is the total armount?

Options:

1. % Rs 1440
Z ¥ Rs 1320
2. % ERs 660
4 % Rs 1200

Question Number : 50 Question Id : 99836719162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e T TSt BTP, Q TR F eI 0N 20 3 0 6 % ST § a1 AT 51 e O F BT 360 0 B, T e 118 F AT 57
Options:

1. % 1440 w3

o ¥ 1320 70

% % G0 T

4 ¥ 1200 =0

Question Number : 51 Question Id : 99836719163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Three numbers &, BEand C are in the ratio of 1: 2 2 respectively. [f C is 30 less than the sum of 4 and E, then
what is the value of B?

Options:
1. % 50
2. % 30
3. ¥ 45
4 % 35

Question Number : 51 Question Id : 99836719163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ABTINCANTAR L 3 2 F Aqud # 1 T C, A TUIE &F AT 30 FH 2, 71 B T 0 F4T 57
Options:

1. % 50

2. % 30
3. ¥ 45
4 % 35

Question Number : 52 Question Id : 99836719164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The incomes of & and E are Bs. 20,000 and Rs. 25,000 respectively. The ratio of expenditure of A and Eis 1
2 and the surn of their total savings is Rs. 12,000, What is the ratio of saving of 4 and B?

Options:

1. % 2:5
2 ¥ 31
%302
4 % 7.4



Question Number : 52 Question Id : 99836719164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A TITE &1 ST FHE 20,000 T 97 25,000 00 21 A TATE & @l 7 SO 1 2 § 797 IHH! Pl Fad F1 I 12,000
T R A TUTE T ad T STUTT 47 87

Options:

1. % 2:5
2 ¥ 31
%302
4 % 7.4

Question Number : 53 Question Id : 99836719165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A& sumof Bs. 1000 becornes Rs. 1450 in three years at the rate of simple interest. What is the rate of interest of
per annurn?

Options:

1. % 12 percent
2. ¥ 15 percent
2. % 10 percent

4. % 16 percent

Question Number : 53 Question Id : 99836719165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 1000 0 T 14T |0 =20 & et & a1 aui # 1450 T 51 AT 21 Wid a9 =2 &1 3% &7 57

Options:

1. % 12 ufdeT
2. ¥ 15 nidea
3 % 10 uidea
4. % 16 uideT

Question Number : 54 Question Id : 99836719166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A man can cover a distance of 40 km downstream and 40 krm upstream in a total of 14 hours. If the speed of
the boat in still water is 4 ko fhr more than the speed of the current, then what is the speed of the current?

Options:

1. % dkmjhr
2. % 3 kmihr
2 % 7lknfhr
4 % 5 km/fhr

Question Number : 54 Question Id : 99836719166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e STl 40 for it ey & TUT 40 T AT, 2R o Widgel GLT el 14 O H T2 F2d 1 51 i, T a1 H HTel o1 i, &R a7
TTE & 4 T T oeT arfew 8, 97 eRT @ i e 27

Options:



1. % 4 T A uer
= o 3R A e
3. % 7 fp At e
4, % o fFdr e

Question Number : 55 Question Id : 99836719167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& and B can do a piece of work in & days, Band C can doitin 12 days and C and & can doitin 15 days. If all
of thern work together, then how many days will they take to do the same work?

Options:
80
1, 9 gege

92
= % 11 dgays

a2

3. 8% Mgages

95

4 % 11 gaug

Question Number : 55 Question Id : 99836719167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ATMEUFFH S S AR add 5 BT C 30 12 Tea d se aard & e C o A 26 15 T2 # 9w god 51 orie o+t oo anr
FT T E, T AE 1 F QT F H T g afme
Options:
20

1. 11 frg

92

> & Hﬁ—rr

a2

38 Mgy

95

4 ® 1 fg

Question Number : 56 Question Id : 99836719168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Pipe & and B can fill an empty tank in 5 hours and 4 hours respectively. Pipe C can empty a full tank in 10
hours. Pipe Z is opened to empty a tank which is 20% already full. After that, & and E are opened together to
fill the tank and C is closed. How many hours will be required for this whole process?

Options:



1. % hours
51
8

= . hours
47
9

S hours
19
2

4 & hours

Question Number : 56 Question Id : 99836719168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TIET & TUTE UF HiAT 39 B FHE S O 797 4 5 H 9 T 3] Teq C w%ﬂi‘gﬂ—oﬁ 10 =2 H FTAT F ThaT 5] UF dop A
Tl | 308 W GHT R, I Gl A o (o0 U150 C 1 SR 1T 51 TEeh e, oo I ¥ o 610 & TUTE #1 ToF €1 Fiell a7 g
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Options:
ﬂ
]

il e
51
g

o, T
L
9

= 4 He
19
2

4 ® 2[4

Question Number : 57 Question Id : 99836719169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The radius of a sphere is 2.5 cm. What is the volume of the sphere?

Options:



, v 179.66 cm®
, % 189.66 cm’

5 x 190 cm?

4, % 190.66 cm®

Question Number : 57 Question Id : 99836719169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Mot @1 1327 3.5 ®.0% 81 e &7 Sa- #4497 27

Options:

| v 179.66 T HY2
- % 189.66 W A2

L x 190TA3

4 % 190.66 T.#3

Question Number : 58 Question Id : 99836719170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If the total surface area of a hemisphere is 55902 cm? then what is the curved
surface area of the hemisphere?

Options:

37864 cm?

. 40000 cm?

P

37268 cm?
3w

38808 cm?
4 ®

Question Number : 58 Question Id : 99836719170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

afg 3redamer &1 Hof YSSIT &G 55902 U, #2 ¥, Y i & a%
qeSIT &R T §7?

Options:

., 37864 W A2
.« 40000 @ 72

. » 37268 &. #2

, » 38808 . Hr?

Question Number : 59 Question Id : 99836719171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The table given below shows the number of matches playved by a team in five years.

Year | Number of matches
Y1 &0
b i 64
Y3 63
Y4 70
Y5 78

The number of matches played in year ¥2 is what percent of all the ratches played by tearn in the five years?
Options:

1. % 1882 percent

2. % 20.82 percent

3. % 24 percent

4. ® 22 82 percent

Question Number : 59 Question Id : 99836719171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el &1 T FTicterT U a6t § U S g1 del T ATt & HET &7 gad T gl

a¥ | #=¥ fr g
Y1 60
3 64
Y3 68
Y4 70
Y5 78
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Options:

1.9 15.82 uidea
2. % 2082 nideT
3. % 24 UideT

4 ® 22 E2URAT

Question Number : 60 Question Id : 99836719172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The line graph given below shows the number of pens bought by a person in various months.

30 1 70
70 - 60

60 -
30 1 40
40 - 30

30 1 20
20 -
10

0 T T T T 1
MI M2 M3 M4 M5

Number of pens

Month

what is the ratio of total number of pens bought in months M1 and ME to the total number of pens bought in
months M2 and mM47?

Options:
1.9 1:
2. % 2
3% 1
4 % 3

e L T S T =

Question Number : 60 Question Id : 99836719172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



et Tea Ty T o U e e Eieg v AT H e T oA o ST S i T 27

80 -
70
60 -
30 1 40
40 30

30 4 20
20
10

60

FAAT HT TEAT

{::I I I I
M1 M2 M3 M4

AEIT

M1 FT M5 A # W T el deArt o ST BT M2 T M4 WEie § WIS T Gl et ol T & T S0 27

Options:
1. 1:
2. w2
3% 1
4 % 3

[ N R
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Revisit allowed for edit?:
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Revisit allowed for group Instructions? :
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Minimum Instruction Time:
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Sub-Section Number: 1
Sub-Section 1d: 9983671034
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 99836719173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Here is (1) [ the bools vou (21 [ lend me (33 [ No error (4)
Options:
1.%1
2. w2
2 V3
4 % 4

Question Number : 61 Question Id : 99836719173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

Here is (1) J the bool vou (2) [ lend me (3) ). Bo error (4)
Options:
1.%1
2 w2
2V 3
4 ® 4

Question Number : 62 Question Id : 99836719174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

Dogs 500 know (1) | the people t0 whorr (2) | they are kindly treated (3) [ No error (4)
Options:
1.% 1
2. V2
=% 3
4 % 4

Question Number : 62 Question Id : 99836719174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Dogs so0n krowe (1) [ the people to whorm (2) | they are kindly treated (3) /. No error (4)
Options:
1. %1



2 &2
3 %3
4. % 4

Question Number : 63 Question Id : 99836719175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence.

They met the sailor (whorn) ship was wrecked.
Options:

1. ¥ whose

= # who

2. # which

4. % No improvermnernt

Question Number : 63 Question Id : 99836719175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

They met the sailor (whom) ship was wrecked.
Options:

1. ¥ whose

2. ® who

2. ® which

4. % No improvernent

Question Number : 64 Question Id : 99836719176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

The magistrate acquitted him of the (charge) against him.
Options:

1. # charged

2. % iz charge

3. % charging

4.9 Mo improvernernt

Question Number : 64 Question Id : 99836719176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence.

The magistrate acquitted hirm of the (charge) against hirm
Options:

1. ® charged

= % iz charge

3. # charging



4. % N0 improvernent

Question Number : 65 Question Id : 99836719177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blarnk to be filled with an appropriate word. Choose the correct alternative.

Sohrab now ______ forward and deals a heavy blow to Rustam.
Options:

1. * rush

2. ¥ rushes

2. % rushed

4. % rushing

Question Number : 65 Question Id : 99836719177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been givernl with a blank to be filled with an appropriate word. Choose the correct alternative,

Sohrab now forward and deals a heavy blow to Rustam.

Options:
1. * rush

2. % rushes
2. % rushed

4. % rushing

Question Number : 66 Question Id : 99836719178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled parts. Out of the four options given, select the most logical
order of the parts to form a coherent sentence.

F: of God and that's why
2 we use thermn

R Flowers rermind us

5. in temples and churches
Options:

1. ¥ RPOQS

2. % PORS

= % SORF

4 % RSOP

Question Number : 66 Question Id : 99836719178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled parts. Out of the four options given, select the most logical
order of the parts to form a coherent sentence.

F: of God and that's why
2 we use thermn

R Flowers remind us

5. in temples and churches



Options:

1. ¥ RPQS
= % PQRS
3. % SORP
4, % RSOP

Question Number : 67 Question Id : 99836719179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that reans the same as the given word.

Censure
Options:

1. * Praise
= % Soothe
3. ¥ Rebuke

4. % Cornplirment

Question Number : 67 Question Id : 99836719179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that means the same as the given word.

CEnsure
Options:

1. % Praise
2. % Soothe
2. ¥ Rebuke

4. # Complirment

Question Number : 68 Question Id : 99836719180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“hoose the word that means the same as the given word.

Comtingent

Options:

1. # Blammable

2. ¥ Accidental

2. % Unconditioned

4. % Certain

Question Number : 68 Question Id : 99836719180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that reans the same as the given word.

Contingert
Options:
1. ® Blarrable



2. % Accidental
3. * Unconditioned
4 % Certain

Question Number : 69 Question Id : 99836719181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly
spelt word.

Options:

1. ¥ Amalgmiate
2. % Expostulate
3. ¥ Fluoridate

4. % Hallurinate

Question Number : 69 Question Id : 99836719181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly
spelt word.

Options:

1. % Amalomate
= % Expostulate
2. % Fluoridate

4. % Hallurcinate

Question Number : 70 Question Id : 99836719182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
wiord.

Options:

1. % Ospicious
2. ¥ Auspicious
2. % Auspicous

4. # Auspitious

Question Number : 70 Question Id : 99836719182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

Ir1 the given question, four words are given out of which one word 15 correctly spelt. Choose the correctly spelt
wiord.

Options:

1. ® Ospicicus
= ¥ Auspicious
2. ® Auspicous

4. % Auspitious

Question Number : 71 Question Id : 99836719183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
word.

Options:

1. ® Buogei
2. % Bougie
2. ¥ Bogie

4. # Boogie

Question Number : 71 Question Id : 99836719183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
wiord.

Options:

1. # Buogei
= % Bougie
2. ¥ Bogie
4. % Boogie

Question Number : 72 Question Id : 99836719184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

As the crow flies

Options:

1. % Tomake a poor impression about oneself
2. * Toenjoy a double benefit

2. % The next action is from your side

4. 9 Measurement in a straight line

Question Number : 72 Question Id : 99836719184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom (Phrase.

As the crow flies

Options:

1. % Tomake a poor impression about oneself
Z % Toenjoy a double benefit

2. ® The next action is from your side

4. % Measurement in a straight line

Question Number : 73 Question Id : 99836719185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

To hit the nail on the head
Options:

1. # To praise someons

2. % No alternative whatever

2. ¥ Tosay or do the right thing

4. ® To destroy the source that gives great gains

Question Number : 73 Question Id : 99836719185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questiorn, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | Phrase.

To hit the nail on the head
Options:

1. ® To praise someons

= % No alternative whatever

2. % Tosay or do the right thing

4. % To destroy the source that gives great gains

Question Number : 74 Question Id : 99836719186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given senterice.

A hall or building equipped for physical exercise.
Options:

1. % Hinterland

2. ¥ Gymnasium

2. % Fastidious

4 % Invincikle

Question Number : 74 Question Id : 99836719186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
hoose the word that can substitute the given sentence.

A& hall or building equipped for physical exercise.
Options:

1. # Hinterland

2. ¥ Gyrmmasiurm

3. % Fastidious

4. % Invincible

Question Number : 75 Question Id : 99836719187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Zhoose the word that can substitute the given senternce.

The belief that nothing can be known about God
Options:

1. % Agnosticism

2. % Theclogy

3. % Sermon

4. % Claustrophobia

Question Number : 75 Question Id : 99836719187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given sentence.

The belief that nothing can be known about God
Options:

1. % Agnosticism

=. % Theclogy

2. % Sermon

4. % Claustrophobia

Sub-Section Number: 2
Sub-Section 1d: 9983671035
Question Shuffling Allowed : Yes

Question Id : 99836719188 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension

Eead the following information carefully and answer the given questions:

Tom Cruise is an American actor and producer. He has received several accolades for his work, including three
Golden Globe Awards and nominations for three Academny Awards. Cruise is one of the best-paid actors in the
world, and his films have earned over $2.9 billion in North America; he is one of the highest-grossing actors
of all tirme.

Cruise began acting in the early 19305 and made his breakthrough with leading roles in the comedy Risky
Business (1983) and the action drama Top Gurl (1936). Critical acclaim carme with his roles in the dramas The
Color of Money (1986), Rain Man (1988), and Born on the Fourth of July (1989). For portraying Fon Kovic in
the latter, he won a Golden Globe Avward and received a nomination for the Academy Award for Best Actor. 45
a leading Hollywood star in the 1990s, Cruise starred in several cormmercially successful films, including the
drama & Few Good Men (14992), the thriller The Firm (1993), the horror film Interview with the Vampire (1594),
and the romance Jerry Maguire (19986), for which he won another Golden Globe and received his second Oscar
nomination. His performance as a motivational speaker in the 1999 drama Magnolia earned him a third
Golden Globe and a nomination for the Academy Award for Best Supporting Actor. As an action star, Cruise
has played Ethan Hunt in six films of the Mission: Impossible film series from 1996 to 2018, He also
continued to feature in many science fictions and action films, including Vanilla Sky (2001), Minority Eeport
{2002}, The Last Samurai (2003), Collateral (2004), War of the Worlds (2005), Knight and Day (2010), Jack
Reacher (2012), Oblivion (2013), and Edge of Tomorrow (2014).

Sub questions

Question Number : 76 Question Id : 99836719189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



which of them is linked with Tom Cruise?

Options:

1. ® Cruise starred in several commercially successful films in the 19903
2. ® Cruise is one of the best-paid actors in the world

% % Cruise is an American actor and producer

4. % all of the above

Question Number : 77 Question Id : 99836719190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following movies was released before 20007

Options:

1. % Knight and Day
2. % Edge of Tomorrow
3. ¥ A few Good Men
4 % COblivion

Question Number : 78 Question Id : 99836719191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What was his role i the 1999 drama Magnolia?

Options:

1. % Motivational speaker
2. % Action hero

Z. % Romantic hero

4. % DNo option is correct

Question Number : 79 Question Id : 99836719192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The word accolades can be best replaced by

Options:

1. ® Criticism

2. ¥ Laurels

Z. % Elame

4. ¥ Disapproval

Question Number : 80 Question Id : 99836719193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which word from the passage means progress?

Options:

1. % Breakthrough
2. % Portraying

% % MNomination

4, % Supporting

Question Id : 99836719188 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No



Question Numbers: (76 to 80)
Juestion Label - Comprehension

Eead the following information carefully and answer the given questions:

Tom Cruise is an American actor and producer. He has received several accolades for his work, including three
Golden Globe Awards and nominations for three Academny Awards. Cruise is one of the best-paid actors in the
world, and his films have earned over $2.9 billion in North America; he is one of the highest-grossing actors
of all tirme.

Cruise began acting in the early 19305 and made his breakthrough with leading roles in the comedy Risky
Business (1983) and the action drama Top Gurl (1936). Critical acclaim carme with his roles in the dramas The
Color of Money (1986), Rain Man (1988), and Born on the Fourth of July (1989). For portraying Fon Kovic in
the latter, he won a Golden Globe Avward and received a nomination for the Academy Award for Best Actor. 45
a leading Hollywood star in the 1990s, Cruise starred in several cormmercially successful films, including the
drama & Few Good Men (14992), the thriller The Firm (1993), the horror film Interview with the Vampire (1594),
and the romance Jerry Maguire (19986), for which he won another Golden Globe and received his second Oscar
nomination. His performance as a motivational speaker in the 1999 drama Magnolia earned him a third
Golden Globe and a nomination for the Academy Award for Best Supporting Actor. As an action star, Cruise
has played Ethan Hunt in six films of the Mission: Impossible film series from 1996 to 2018, He also
continued to feature in many science fictions and action films, including Vanilla Sky (2001), Minority Eeport
{2002}, The Last Samurai (2003), Collateral (2004), War of the Worlds (2005), Knight and Day (2010), Jack
Reacher (2012), Oblivion (2013), and Edge of Tomorrow (2014).

Sub questions

Question Number : 76 Question Id : 99836719189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of them is linked with Tom Cruise?

Options:

1. * Cruise starred in several cornmercially successful films in the 1990s
2. % Cruise is one of the best-paid actors in the world

2. % Cruise is an Armerican actor and producer

4. 9 Al of the abowe

Question Number : 77 Question Id : 99836719190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following movies was released before 20007

Options:

1. % Enight and Day
2. % Edge of Tornorrow
2 ¥ A few Good Men
4. % Oblivion

Question Number : 78 Question Id : 99836719191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what was his role in the 199% drama Magnolia?

Options:

1. ¥ Motivational speaker
2. % Action hero

2. % Romantic hero

4. % MNo option is correct



Question Number : 79 Question Id : 99836719192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The word accolades can be best replaced by

Options:

1. % Criticism
2. ¥ Laurels
3. % Elame

4. # Disapproval

Question Number : 80 Question Id : 99836719193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which word from the passage means progress?

Options:

1. % Breakthrough
= % Portraving

3. % Nomination
4. % Supporting
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Question Number : 81 Question Id : 99836719194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e Ty sreet @ AT AT

T + AffRT
Options:

1. & & |t
2. % 17t
3. % TorEte
4. % arTie T

Question Number : 81 Question Id : 99836719194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Temy I st T AT S

T + affer
Options:

1. g |t
2 % Tyt
3. % TurErE
4 ® s |

Question Number : 82 Question Id : 99836719195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tamr T ey # AT T A e

ELERIEE IR T LA AR

Options:
1. v o=
2 % 9
3. % m
4 % =

Question Number : 82 Question Id : 99836719195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T e o AT Y EET Ad e

TG et <1 qEah &1 7 TR 3l

Options:
1. v o=
2. % "\
3R m
4 % 9

Question Number : 83 Question Id : 99836719196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
T T sreg # weaa AT H

T
Options:
1. % g
2. %oy
3.V 0T
4. % g

Question Number : 83 Question Id : 99836719196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T areg © vea AT e

qITETH
Options:
1. % oume
2 %o
=3 ATy
4. % oo

Question Number : 84 Question Id : 99836719197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafmiET # w2 TTE F7 ISE i |91 27
Options:

1. & TgTa-m

2. % it

3. % e

4. % qOERT

Question Number : 84 Question Id : 99836719197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT # w2 STE &7 ISR B |1 87
Options:

1. ¥ @gmaAr

2. % gy

3 % e

4. ® JEEER

Question Number : 85 Question Id : 99836719198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tomr T e § ol v & O e

TITefT AT T TR 1 U 31 9@ 51 gem

Options:
1. ¥ A



guﬁﬂw
S ¥ o
4. % 3TEN

Question Number : 85 Question Id : 99836719198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T arerr # ol v &7 O e

TITefT AT T TR 1 U 31 9@ 51 gem

Options:

1. ¥ 9=
o ® e
3. ® oer
4. ® TN

Question Number : 86 Question Id : 99836719199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A0 | W AT Jeg | & UIaae Tl 57
Options:

1. ® 9

2. % gHr

3. % afiwoErT

4. ¥ gm

Question Number : 86 Question Id : 99836719199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TIH F T AT =g, SR &1 TAIaam! T51 57
Options:

1. % o=

2. % mgHr

3. ® ofi=aEma

4. v g

Question Number : 87 Question Id : 99836719200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T M7 areg @7 AT e A

e

Options:

1. % &g
2. ¥ g
3% ugg
4 * 09



Question Number : 87 Question Id : 99836719200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T M7 areg @7 AT e A

e

Options:

1. % &g
2. ¥ g
3% ugg
4 * 09

Question Number : 88 Question Id : 99836719201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FEAET s 90y | S & W0 U deg ® AT i

STTERTST T g ATem
Options:
1. % aeprsftar

2. % g
3. ¥ Ml

4 % T

Question Number : 88 Question Id : 99836719201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FRiRET e T | ST & o0 U e F AT

STTRTAT T o AR
Options:

1. % s
2. % T

3. ¥ sl

4. % aaeR

Question Number : 89 Question Id : 99836719202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tamy Ty g Y ugE HIR

TerRiET ¥ 7T & Tor Tomemer # Agea 9 gy v T ST
Options:

1. % ETIOT eTer

2 % ggm g

3. ® " Ay

4. & T g

Question Number : 89 Question Id : 99836719202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T T =T T OgE e

et 3 T & i TTamster i wqoer o i e 1 o &
Options:

1. % HTHWOT e

2. % ggm aEg

3. W aeg

4. Ty T

Question Number : 90 Question Id : 99836719203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaieET & & @ A7 9 arg B

Options:

1. & a0 &7 a9 TR RT3
2 % o ge w fePaTe i
3. % [ U ATHTRE WO Al
4 % o pare g

Question Number : 90 Question Id : 99836719203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FEmET & & o A7 aeT arg a7

Options:

1. & I &7 | TEW amaT 3
2. % o g W TERaTe i
3. % Hwr U ATHTRE W Al
4 % 370 I Bl

Question Number : 91 Question Id : 99836719204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tomr Ty =T # SR T R

Options:
1. %W
2 %
3 %
4. & @

Question Number : 91 Question Id : 99836719204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tam My e H IR wet

Options:
1. % W
o %7



3 %o
4 &

Question Number : 92 Question Id : 99836719205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Disciplinel
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Question Number : 101 Question Id : 99836719215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Gender-Related Development Index and the Gender Empowerment Measure were introduced in the year:

Options:
1 ® 1997
5 % 1993

5 « 1995

4 % 1998

Question Number : 101 Question Id : 99836719215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 102 Question Id : 99836719216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Sample Registration System (SRS) provides reliable estimates of:

Options:
1 % birth and death rates at the national level

> % birth rates at the national and state level
- % death rates at the state level

4 « birth rates and death rates at the national and state level

Question Number : 102 Question Id : 99836719216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 103 Question Id : 99836719217 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which month and year did the Alma-Ata Declaration emerge as a major milestone of the 20t century in the field of
public health?

Options:
| = August 1972

-  September 1978
z % November 1977

, % May 1995
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 104 Question Id : 99836719218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who adopted the definition of health education as ‘the process by which individuals and groups of people learn to

behave in a conducive manner to the promotion, maintenance or restoration of health’?
Options:
1 % Theo Abelin

> « John M Last

- w Mary Jane Ashley

4 = OlgaBasso

Question Number : 104 Question Id : 99836719218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 105 Question Id : 99836719219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following health care committees was the first to recommend comprehensive health care?

Options:
1 + Bhore committee

> w Mukherjee committee

5 = Jungalwalla committee

4 % Shrivastav committee

Question Number : 105 Question Id : 99836719219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 106 Question Id : 99836719220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which vear was the term *basic health services’ used by UNICEF/WHO in their joint health policy?

Options:
; % 1968
5 1965

s % 1970

4 % 1962



Question Number : 106 Question 1d : 99836719220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 107 Question Id : 99836719221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
India became small pox free on:

Options:
1 % 10 June 1973

5 o 3 July 1975

= = 9 September 1973

. ® 4May 1976

Question Number : 107 Question Id : 99836719221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 108 Question Id : 99836719222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which three indicators consolidate the Physical Quality of Life Index?
Options:

, « Infant mortality, life expectancy at age and literacy

- u Infant mortality. morbidity and literacy

- % Inequality, knowledge and income

, = Infant mortality, knowledge and income

Question Number : 108 Question Id : 99836719222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 109 Question Id : 99836719223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Who is credited with initiating the concept of hospital-based social work?
Options:

| = Mary Jarrett

> % Mary Richmond

=z % Dorothea Dix
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Question Number : 109 Question Id : 99836719223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 110 Question Id : 99836719224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cerebral palsy, epilepsy and autism are all
Options:

, = Indicators of intellectual disability

-  examples of developmental disabilities

5 % types of learning disabilities
excluded as developmental disabilities by the specifications of the Developmental Disabilities Assistance and Bill of

4 % Rights act of 1990

Question Number : 110 Question Id : 99836719224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 111 Question Id : 99836719225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who stated that. “The people’s health ought to be the concern of the people themselves™?

Options:
; = Alfred Grojahn

5 of Henry Sigerist
%z % Rene Sand

4 = JohnRyle

Question Number : 111 Question Id : 99836719225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 112 Question Id : 99836719226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who introduced the concept of “health centres’?

Options:
1 « Bertrand Dawson

- % Bhore Committee

- # League of Nation’s Health Organization



4 w John Ryle

Question Number : 112 Question Id : 99836719226 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 113 Question Id : 99836719227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Village Health Guide Scheme, launched in India in 1977, is an example of:
Options:

| Community participation

- % soclal mobilisation
% % health communication and education

4 # health management

Question Number : 113 Question Id : 99836719227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 114 Question Id : 99836719228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Health Belief Model was developed by social psychologists and brought to the attention of health care professionals
by:

Options:
1 % Pender in 1980

> « Rosenstock in 1966
-z % Greenin 1974

4 % Garner in 1988

Question Number : 114 Question Id : 99836719228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 115 Question Id : 99836719229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a primary function of public health?

Options:
1 % Assessment

-~ u Policy documentation

= % Assurance
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Question Number : 115 Question Id : 99836719229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 116 Question Id : 99836719230 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT one of the main features of a community?
Options:

1 % Location

» % Population

3 « Isolation

4 = Social system

Question Number : 116 Question Id : 99836719230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 117 Question Id : 99836719231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following are NOT characteristics of a helping relationship in community health nursing?
Options:

. Openness, genuineness. trustworthiness and self-awareness

Do

- w Sensitivity. acceptance and concern for the client

- # Considering ethnic and cultural backgrounds

4 + Rude behaviour with the client

Question Number : 117 Question Id : 99836719231 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 118 Question Id : 99836719232 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the definition of health as given by WHO?
Options:

; = Adynamic balance of physical emotional, social, spiritual and intellectual health.

> % The condition of a person’s body or mind.

5 % The state of being well and free from illness.



4  Astate of complete physical. mental and social well-being and not merely the absence of disease or infirmity.

Question Number : 118 Question Id : 99836719232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 119 Question Id : 99836719233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the United States, the first community health mrse, . Who was hired by the Women'’s Branch of
the New York Mission in 1877, pioneered home visits to the poor in New York City.

Options:
1 % Dina Hill

> w Mary Eliza Mahoney

5 « Francis Root

4 # Elizabeth

Question Number : 119 Question Id ;: 99836719233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 120 Question Id : 99836719234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the first graduate from an American nursing school?

Options:
1 % Maria Stewart

-  Mary Eliza Mahoney

5 = Mary Seacole

4 % Julia Albert

Question Number : 120 Question Id : 99836719234 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Revisit allowed for edit? : No
Break time: 0
Group Marks: 20

Revisit allowed for group Instructions? : Yes



Maximum Instruction Time: 0

Minimum Instruction Time: 0
Disciplines

Section Id : 998367817

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 9983671039
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 99836719235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which vyear was the Visiting Nurse Association established in Buffalo. New York?

Options:
;. % 1878
> % 1881

5 o 1885

4 % 1889

Question Number : 121 Question Id : 99836719235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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4 % 1889 #

Question Number : 122 Question Id : 99836719236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The study of the distribution and determinants of health and diseases, morbidity, injuries, disability and mortality in

population is known as:
Options:
, « epidemiology

- u Aaerobiology

- » anthropobiology

4 = bioecology

Question Number : 122 Question Id : 99836719236 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 123 Question Id : 99836719237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is an appropriate definition of ‘community health’?
Options:
The identification of needs, along with protection and improvement of collective health, within a geographical defined
1 « area.

- % It isa state of positive health.



- w Adynamic balance of physical. emotional, social. spiritual and intellectual health.

4 % The state of being well and free from illness.

Question Number : 123 Question Id : 99836719237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 124 Question Id : 99836719238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

When was WHO founded by the United Nations?
Options:
¢ 7 April 1945

FI .

o % 7April 1946

= w 1April 1947

4 o TApril 1948

Question Number : 124 Question Id : 99836719238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 125 Question Id : 99836719239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Social workers define social welfare as a system that:
Options:

, w only applies to people who are poor

- u exclusively applies to people who are wealthy

= % only includes public social services

il is a citizen’s right

Question Number : 125 Question Id : 99836719239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 126 Question Id : 99836719240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Who founded the first U.S. Charity Organization Society in 1877 in Buffalo, New York?
Options:

« Mary Richmond

R



> % Samuel Barnett

=  Stephen Humphreys Gurteen

4 % Jane Addams

Question Number : 126 Question Id : 99836719240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 127 Question Id : 99836719241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is true from the perspective of generalist social work?
Options:
; = Solutions to family conflicts are always micro-focused.

-  Larger social structures may be the source of both, problems and solutions.

- u Larger social structures are often the source of problems. but not that of solutions.

4 # Solutions to larger system issues are generally micro-focused

Question Number : 127 Question Id : 99836719241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 128 Question Id : 99836719242 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who coined the phrase ‘person-in-his-situation’ to describe the threefold interaction of the configuration consisting of

the person. the situation and the interaction between them?
Options:

, w Grace Coyle

- « Florence Hollis

5 % Bertha Capen Reynolds

4 % Sarah Fernandis

Question Number : 128 Question Id : 99836719242 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
=i, feufy 3 305 9= & weis B § Ioa gagla & el areafe G & ava &= &
forT, e cafaa 39er 2ufe & (person-in-his-situation) aTeFaTer & ar?

Options:
, % TF FTA

o » FEIRE Eited

. 7 307 He=g

=

4 % T FATSH

Question Number : 129 Question Id : 99836719243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ernest Greenwood’s classic article " (1957) provides another landmark in the evaluation of the professional
status of social work.
Options:



1 # Is Social Work a Profession?

- = The Working Definition of Social Work Practices

5 = Social Work: an Empowering Profession

4 « Attributes of a Profession

Question Number : 129 Question Id : 99836719243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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| w o OTATTSIF FTT Tk <ga9d@F &2 (Is Social Work a Profession?)

o « TIHEISE A STEER $T FAHET T (The Working Definition of Social Work Practices)

5 % TTATTSF FE: TF FAFTFI0FT 79837 (Social Work: an Empowering Profession)

. v U STHETT @ FRIVATT (Attributes of a Profession)

Question Number : 130 Question Id : 99836719244 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Case histories, policy analysis and community surveys are examples of:

Options:
1 ® eCo-maps

genograms
3 « social studies

g ® needs assessments

Question Number : 130 Question Id : 99836719244 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 131 Question Id : 99836719245 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who developed the *task-centred approach’ in case work?

Options:
1 % Helen Harris Perlman

> o William Reid
% % Gordon Hamilton

4 % Frank Hankins

Question Number : 131 Question Id : 99836719245 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 132 Question Id : 99836719246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The basic functions of a *helping process’ are:

Options:



mobilisation of resources, and planning and facilitation

,_.
4

rehabilitation. resources utilisation, and restoration

na
®

-  lestoration, provision of resources, and prevention

coping patterns, mobilisation of resources, and prevention

Question Number : 132 Question Id : 99836719246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 133 Question Id : 99836719247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Internalising the characteristics of an object with the aim of establishing closeness to the object is known as:
Options:

, = Pprojection

-  iDtrojection

5 % lregression

4 % sublimation

Question Number : 133 Question Id : 99836719247 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 134 Question Id : 99836719248 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Social workers who provide services to children who have been sexually assaulted are most likely to work in a:
Options:

. mediation program

Do

-  Victim assistance program

5 w mental health agency

4 % Witness protection program

Question Number : 134 Question 1d : 99836719248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 135 Question 1d : 99836719249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Emergency room social workers often use techniques in order to enable persons facing medical emergencies
cope with their immediate problems.
Options:

; = long term therapy

» @ Ccause advocacy

% « Crisis intervention

4 # sympathy

Question Number : 135 Question Id : 99836719249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 136 Question Id : 99836719250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The need for professional education in social work was established for the first time in the year by at the

International Congress of Charities, Correction and Philanthropy, held in Chicago.
Options:
, = 1892, Graham Taylor

5 o 1893, Anna I Dawes

- « 1901, Edith Abbott

4 = 1904, Sophonisba P Breckinridge

Question Number : 136 Question Id : 99836719250 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 137 Question Id ;: 99836719251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a feature of the ‘Transactional Analysis’ theory presented by Dr. E Berne?
Options:

, = Structural analysis

» » Game analysis

5  Record analysis

4 = Script analysis

Question Number : 137 Question 1d : 99836719251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 138 Question Id : 99836719252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Who wrote the book *Social Group Work: a Helping Process™?
Options:

1 % G Hamilton

> % HB Trecker

- w HY Siddiqui

4 « G Konopka

Question Number : 138 Question Id : 99836719252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 139 Question Id : 99836719253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the full form of ‘TASWG’?

Options:

, = International Association of Social Welfare with Groups

-  lnternational Association of Social Work with Groups

- w International Association of Social Group Work

4 = Indian Association of Social Work with Groups

Question Number : 139 Question Id : 99836719253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 140 Question Id : 99836719254 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a stage of group development?
Options:

; = Storming

» « Confronting

5 % Norming

4 = Performing

Question Number : 140 Question Id : 99836719254 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Group Number : 8

Group Id : 998367697
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Disciplines
Section Id : 998367818
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number : 1
Sub-Section Id: 9983671040
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 99836719255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who founded YMCA in the year 18447
Options:

, « George Williams

- % Jane Addams
z % HB Trecker

4 R MG Murray

Question Number : 141 Question Id : 99836719255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 142 Question Id : 99836719256 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a value of social group work?
Options:

, = Social justice

- % Dignity and worth of the individual

- # Importance of relationships

4 « Ttusteeship

Question Number : 142 Question Id : 99836719256 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 143 Question Id : 99836719257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a part of group dynamics?

Options:



1 % Communication and interaction
-  Primary group

- w Group cohesion

4 = Group culture

Question Number : 143 Question 1d : 99836719257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 144 Question Id : 99836719258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Participative stvle of leadership is also known as style of leadership.

Options:
1 « democratic

- % autocrafic

5 % Sup portive

4 % charismatic

Question Number : 144 Question Id : 99836719258 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 145 Question Id : 99836719259 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a type of recording in social group work?
Options:

, = Process recording

5 w Summary recording

5  Complex recording

4 = Goal-oriented recording

Question Number : 145 Question Id : 99836719259 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 146 Question Id : 99836719260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is the correct sequence in the process of communication?

Options:



« Message — sender — communication channel — receiver

)

> R Sender — communication channel — message — receiver
=  Sender —message — communication channel — receiver
4 % Sender — message — receiver — communication channel

Question Number : 146 Question Id ;: 99836719260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 147 Question Id : 99836719261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
On the basis of varied assumptions about the role of a social worker. the group members and the content of the group.

social workers proposed distinet group work models.
Options:
1 « four

> % Two
5 % three

4 % five

Question Number : 147 Question Id : 99836719261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 148 Question Id : 99836719262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which among the following is NOT a principle of recording in social group work?
Options:

; = Principle of confidentiality

> » Principle of worker acceptance

5  Principle of evaluation

4 = Principle of selection

Question Number : 148 Question Id : 99836719262 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 149 Question Id : 99836719263 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The perspective suggests that groups form because its members like one another and seek to spend time

together.

Options:



| « interpersonal interaction

- % convenient
= % functional

4 = social exchange

Question Number : 149 Question Id : 99836719263 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 150 Question Id : 99836719264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Social workers from the 20 century have been involved in providing health care services for the poor, for the elderly
and for patients with:

Options:
1 ® cancer

> o tuberculosis
s u epilepsy

4 % psychiatric issues

Question Number : 150 Question Id : 99836719264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 151 Question Id : 99836719265 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which year did the World Association of Social Work publish standards for the provision of health care services in

hospitals?
Options:
, % 1975

> % 1976
i 1977

4 % 1978

Question Number : 151 Question Id : 99836719265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 152 Question 1d : 99836719266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The first social worker in health care was appointed in 1946 to which hospital and in which Indian city?

Options:



, « J.J. Hospital, Mumbai

> » Lady Irwin Hospital, Delhi

- » P.D. Hinduja Hospital. Mumbai

4 % All India Institute of Medical Sciences, Delhi

Question Number : 152 Question Id : 99836719266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 153 Question Id : 99836719267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Social work in health care was eventually divided into medical and psychiatric social work. This division was
stimulated by the introduction of which of the following theories?

Options:

, = Piaget’s cognitive developmental theory

- » Bandura’s social learning theory

- # Erikson’s psychosocial development theory

4 « Freudian psychoanalytic theory
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Question Number : 154 Question Id : 99836719268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The third approach in healthcare originated as:

Options:
1 #% basic health services

-  primary health care

5 # community health services

4 = comprehensive healthcare
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Correct Marks: 1 Wrong Marks: 0.25
The National Standards for Culturally and Linguistically Appropriate Services in Health and Health Care (the CLAS

Standards) were developed by the Department of Health and Human Services (HHS).
Options:
1 % Russian

-~ % United Kingdom

3 « United States

4 % Australian
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Question Number : 156 Question Id : 99836719270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Counselling, as a method of therapy. has drawn its base from psychological sciences, particularly from the

theory.
Options:
, = Ppsychosocial

-  Ppsychoanalytic

= # soclocultural

4 % socioanalytic



Question Number : 156 Question Id : 99836719270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

IR B U il & w7 F 9ged TR (FEEfenT) # uR AAeeEs B, ey w7 F
_ Toma w oo B

Options:

1% HATHTATSA

5 FATIATUTCHS

AT Ah-HIEF (o

4 % TTHATAS-FITOTCHS

Question Number : 157 Question Id : 99836719271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which vear did England begin a system of aftercare for patients discharged from mental hospitals?

Options:
;. % 1878
> % 1879

5 o 1880

4 % 1881
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Correct Marks: 1 Wrong Marks: 0.25
In the 1890s in London. on the initiative of , social workers were organised and they worked as volunteer

greeters in hospitals.
Options:
; w» Daniel Barenboim

> o Sir Charles S Loch

5 % Maurice Druon

4 % SirGeorg Solti

Question Number : 158 Question Id : 99836719272 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25
As per the division of health professionals into four separate groups by Greenfield in 1969, medical social workers are

placed in which group?
Options:
, % Autonomous professionals

-  Allied health professionals



=z % Allied health technicians

4 % Allied health assistants
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following has given the definition of medical social work as ‘a method that is centred on one-on-one

relationships. and a primary technique that supports social functioning of individuals” by?
Options:
1 % World Medical Association

- % Australian Medical Association

-  Association of American Medical Colleges

4 % South African Medical Association
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Correct Marks: 1 Wrong Marks: 0.25

In the early 1900s. professional social workers were appointed to which hospital in America?
Options:

; w» Duke University Hospital

- w Northwestern Memorial Hospital



= % New York - Presbyterian Hospital

4  Massachusetts General Hospital

Question Number : 161 Question Id : 99836719275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
defined a community as *a group of people who live by a communication structure, supporting discussions and

collective actions.’
Options:
1 % Robert Bellah

» w Bryon Munon

5  C Farrington and E Pine

4 % Ferdinand Tonnies
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From a social work practitioner’s perspective, which are the three frameworks that are said to be useful in order to look

at a community?

Tét;nj&s a social system, an ecological system and a centre for power and conflict
5 % As a social system, an ecosystem and a sub-system

= » Social functioning. as an ecosystem and a sub-system

4 # Asaclient system, a social system and an ecological system
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Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25
is a collaborative and facilitative process undertaken by people (community, institution, or academic

stakeholders) who share a common purpose of building capacity to have a positive impact on the quality of life.



Options:
.= Community work

- » Community organisation

5 « Community development

4 % Community management
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Correct Marks: 1 Wrong Marks: 0.25
The values of community development are:

Options:

| « social justice, participation, equality, learning and cooperation

- » collaboration. equality, social justice, facilitation and management
- # equality, freedom, mobilisation. participation and social justice

4 = equality, freedom, participation and learning
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Areas that are covered with dilapidated structures, faultily laid out and lacking in essential services are generally termed

ds:
Options:
1 #% linear settlements

- # clusters
3 « slums

4 % satellite hamlets
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Correct Marks: 1 Wrong Marks: 0.25
Who is the author of the book *The Community of the Future and the Future of the Community.’?

Options:
, = Dr. Carl Taylor

5 of Dr. Arthur E Morgan

2 % Murray G Ross

4 = Hadley Roger
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When was the first community development programme introduced in India?

Options:
;. % 1951

> o 1952

Question Number : 168 Question Id : 99836719282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



AT H UgeT W% Ao s H & 3R Bhar a1m or?
Options:

. % 1951 H
> 1952 &
5 % 1953 &

4 % 1954 &

Question Number : 169 Question Id : 99836719283 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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The Firka Development Scheme belonged to which city/state?

Options:
, » Bombay (Mumbai)

5 o Madras (Chennai)

= % Andhra Pradesh

4 # Uttar Pradesh
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The usual or expected frequency of a disease within a specified geographical area or population group is called a/an:
Options:
, = epidemic

» » pandemic

3 o endemic

4 = Sporadic
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Child mortality rate is evaluated for the age:

Options:

| % 0 to 4 vears

5 of I to 4 vears

= % 0 to 5 years

4 % 11035 years
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Correct Marks: 1 Wrong Marks: 0.25
Which of the following component is NOT included in the definition of health proposed by WHO in 19487

Options:
, = Physical
> % Social

5  Spiritual

4 % Mental
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The Directly Observed Treatment, short-course strategy is used to control:
Options:
1 % malaria

-, u dengue

s % AIDS

4 « tuberculosis
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Which of the following states of India is the most prone to Japanese encephalitis?

Options:
1 % Assam

> % Bihar
z « Utftar Pradesh

4 % West Bengal
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Which organisation has established the *Suraksha Clinic’ to prevent sexually transmitted diseases in India?

Options:
1 ® WHO

> « NACO
5 % UNICEF

4 % FORD FOUNDATION
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Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a modifiable risk factor for hypertension?

Options:



1 « Genetic factor

- u Obesity

3 # Salt intake

4 % Saturated fat
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World Health Day is celebrated every vear on:
Options:

; = 10April

> & SApril

5 o 7April

4 u SApril
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Correct Marks: 1 Wrong Marks: 0.25
Chickenpox. a disease worldwide in distribution, occurs in:

Options:
; = Aanepidemic form

> % an endemic form

=  both. epidemic and endemic forms

4 % apandemic form
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The concept of primary health care involves the delivery of a package of curative and preventive services:

Options:



1 # atan individual level

- = atagroup level

5  atacommunity level

4 = only at a district level
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The medical system(s) that is/are truly Indian in origin and development is/are:
Options:

, = Allopathy

-  Ayurveda and Siddha

- » Homeopathy. Ayurveda and Siddha

4 = Homeopathy
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Which disease(s) can an infant be immunised against by the DPT vaccine?
Options:

1 # Tetanus



> w Diphtheria

5 ® Pertussis (Kali Khansi)

4 « Tetanus, diphtheria and pertussis
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Question Number : 182 Question 1d : 99836719296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Bhore committee was set up by the Government of India in the vear:

Options:
1« 1943

- ® 1947
5 ® 1951

4 % 1941

Question Number : 182 Question Id : 99836719296 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 183 Question Id : 99836719297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The National Rural Health Mission (NRHM) was launched on by former Prime Minister, Manmohan Singh, to

address the health needs of underserved rural areas.
Options:
1 % 15 Ma}-' 2004

5 « 12 April 2005

. % 15May 2005

4w 12 April 2004

Question Number : 183 Question Id : 99836719297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. » 15 Ag 2004

> « 12 3199 2005

. « 15 A% 2005

4 % 12 3% 2004

Question Number : 184 Question Id ;: 99836719298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The “Janani Suraksha Yojana’ (JSY') was launched in

Options:
., = May 2005



> w April 2003

5  April 2005

, = May 2003

Question Number : 184 Question Id : 99836719298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 185 Question Id : 99836719299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Pulse Polio Immunization Programme was launched in India in:

Options:
;% 1991

> % 1982
5 « 1995

4 % 1999

Question Number : 185 Question Id : 99836719299 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 186 Question Id : 99836719300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Which of the following is NOT the role of an ASHA?

Options:
, w Facilitating access to health care services

- » Building awareness about health care entitlements

- » Promoting healthy behaviours and mobilising collective action for better health outcomes

4 « Providing supervision to ANMs

Question Number : 186 Question Id ;: 99836719300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 187 Question Id : 99836719301 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to WHO. by the yvear 2020, will constitute the second largest worldwide disease burden.
Options:
, « depression

~ % asthma



- w polio

4 = dyslexia

Question Number : 187 Question Id : 99836719301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 188 Question Id : 99836719302 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Swasthya Sathi’. a group health insurance scheme of the Government of West Bengal was launched in:

Options:
, w April2014

May 2017
April 2012

4 « December 2016

Question Number : 188 Question 1d : 99836719302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| = 39eT 2014

., x S 2017



5 % e 2012

4 v f&EsY 2016

Question Number : 189 Question Id : 99836719303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Chadha committee was formed under Dr. M S Chadha in the year:

Options:
1 « 1963

> % 1983
s % 1971

4 ® 1967

Question Number : 189 Question Id : 99836719303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

.« 1963 H
- % 1983 &
> % 1971 &

4 % 1967 &

Question Number : 190 Question Id : 99836719304 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Development of Primary Health Centres was recommended by which of the following committees?

Options:
1 % Chadha committee

- « Bhore Committee

=z % Mudaliar Committee



4 # Mukherjee Committee

Question Number : 190 Question Id : 99836719304 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 191 Question Id : 99836719305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The *Janani Shishu Suraksha Karyakram® was launched on:

Options:
. % 1May 201l

> o 1 June 2011

- » 1July2011

4 u 1August 2011

Question Number : 191 Question Id : 99836719305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘aﬂ?ﬁfﬂﬁgﬁwmmmﬁmmw
Options:

L% 1 #2011 &

L1 3 2011 =/ r
5o T R



. x 1 % 2011 =

4 % 1 3TET 2011 &1

Question Number : 192 Question Id : 99836719306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The *Rashitriva Kishor Swasthva Karvakram’ was introduced in:

Options:
| % January 2013

7
5  January 2014

February 2014

t
i

4 % March 2014

Question Number : 192 Question Id : 99836719306 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 193 Question Id : 99836719307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is the main objective of ‘Mission Indradhanush’?

Options:
% Provide a hygienic and clean environment, food, drinking water, toilets, schools and other surroundings to children

1.“

Imnmnise all children as well as pregnant women against seven vaccine preventable diseases, namely diphtheria.

-  Whooping cough, tetanus, polio, tuberculosis, measles and hepatitis



- u Provide drugs/medicines across the country at an affordable cost

4 = Fulfill Mahatma Gandhi's dream of a clean and hygienic India

Question Number : 193 Question Id : 99836719307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 194 Question Id : 99836719308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The *Ayushman Bharat Yojana® was announced in the budget of:

Options:
1 % 2015-16

5> % 2016-17
s % 2017-18

4 & 2018-19

Question Number : 194 Question Id : 99836719308 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. % 2015-16

. % 2016-17



2 % 2017-18

L v 2018-19

Question Number : 195 Question Id : 99836719309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The *Rashtriva Kishor Swasthya Karyvakram’ comes under the:

Options:
, « Ministry of Health and Family Welfare

Ministry of Labour and Employment

na
i

Ministry of Human Resource Development

Ministry of Rural Development

Question Number : 195 Question Id ;: 99836719309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 196 Question Id : 99836719310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The main objective of the ‘Rashtriva Bal Swasthya Karyakram’ is:
Options:
early identification and early intervention for children. from birth to 18 years of age, to cover 4 ‘D’s viz. defect at birth.

, « disease in children, deficiency conditions. and developmental delays. including disabilities

- w toprovide nutritional support to children of primary stage in drought-affected areas



5 % 10 provide a hygienic and clean environment, food, drinking water, toilet, schools and other surroundings

4 = toprovide drugs and medicines to children

Question Number : 196 Question Id : 99836719310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 197 Question Id ;: 99836719311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The aim of the ‘Navjaat Shishu Suraksha Karvakram’ is to:

Options:

, « train health personnel in basic new born care and resuscitation

- % boost health care facilities for pregnant women, especially those who are poor

- » protect pregnant women from infectious diseases

4 % ensure prenatal and postnatal care

Question Number : 197 Question Id : 99836719311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 198 Question Id : 99836719312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the main aim of the “Janani Suraksha Yojana’?

Options:
, = To provide shelter to poor people

-  Toreduce maternal and neonatal mortality

5 % 1o provide pension to widows

4 % To take care of old women.

Question Number : 198 Question Id : 99836719312 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 199 Question Id : 99836719313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The *Ayushman Bharat Yojana® was launched by the:

Options:
, » Ministry of Women and Child Development

-  Ministry of Health and Family welfare



- w Ministry of Finance

4 = Ministry of Home Affairs

Question Number : 199 Question Id : 99836719313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 200 Question Id : 99836719314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The National AIDS Control Programme (NACP) was launched in in the year:

Options:
, % 1990

> % 1986
3 « 1992

4 % 1995

Question Number : 200 Question Id : 99836719314 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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